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1%} F (%] F [%]
2 F 2 F ) PR
g sl 8 sl g
20°F S10°F s
E g f g
i £ Si?
10°F 1 £
E E =]
F E kel
10°F 10°F
[ [ 10
10%F 10%F
10F 10F
s s 1
1 o E
i<}
g ] —EEW IMP
o9 = T ook -1- Tog
04| 0.95F - =+ = <~ - [ Wl E LA - FREG - - - osfl-1-
d : : : : : 0.6} : T T T b T T T
0'—725—20—15—10 -5 0 5 10 15 20 25 O'—25—20—15— 10 15 20 25 0'—'25—40—15—10 -5 0 -25-20-15-10-5 0 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
N of reco track vs dz [N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
2 L F 2
[*} [5} B [5}
g g S
10 2
= F S
i 5
L © 10
10°F E
[ 10°F
10%F .
E 10
10 1®
onv TR o a
I T
o o
f R 5. o R e - SR I -
0¥ T20 -0 0 10 20 30 0¥35 =20 -10 10 20 30 %3520 10 20 30 10 20 30

track dz (cm)

track dz (cm)

track dz (cm)

track dz (cm)



	Contents
	Page 1


